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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2019

ECOACORO03T-ECONOMICS (CC3)
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions: 2x5=10

-1 2Af515 @irea Teg wes
‘ Distinguish between stock and flow variables in Economics.

PR wepe @ +ifSww veRIfER ofiefe fofa s
ﬁhat is Okun’s law?
P BT T
(c) What is balance of payments? /
FTHR TGE FICF (e 2 .
(d) What is transfer income?
TS S BICF I 9
Define MPC and MPS.
AT (Siieere! 4R A Hey 2R e w6 |
(f) Distinguish between autonomous and induced investment.
 FRIFT @ Tge Riawamsra sy side e vt
¥ Mention the functions of money.
e FIRER SrE IR
Vhat is hyperinflation?
Hyperinflation 3 ©&% il I3 6 2

S

2. Answer any four questions: 5%4 =20
- BTG efvan Tea wies

“ﬁ' Explain why an economy’s income must equal its expenditure.
55 SRR (NG 1 (G YT T ZCI (FF — I FCA |

) Distinguish between CPI and GDP deflator.

(oI 7Y T 9k & S 9 ferpta @z =1 fafa s
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What is meant by classical dichotomy?
T FibrE e s & @i g
(d) What is meant by neutrality of money?
T A S TS & @ 2
What is meant by inflationary gap in Simple Keynesian Model?
T FNA NGCE YHPHTSR FiT Ferre 5 @RI 9
(f) Explain how aggregate demand curve can be derived using IS-LM framework.
IS-LM SCets ARG (i SifEw it et ol et o — it e

N

3. Answer any fwo questions: 10x2 =20
@~ %15 eivaa Teq nes
(a) Explain how output, employment, price level and rate of interest are determined 10

under Keynesian Model.
T SOt Geitd, AT, AR 3k 0nR 29 Rreied fRdifee = — i et
\ What is multiplier? Discuss the concept of Balanced Budget multiplier using 2+8
IS-LLM model and Keynesian model.
QT FE 0 ? [S-LM (T G (FFNT TOCAR AR JATE IE0 @I izeiis
I
“Effectiveness of fiscal policy depends on the slope of LM curve” — Discuss. 10

“FFne Ao PSR LM @i Fite B o9 33 — Sitaivs $@i

(d) What is full employment? How full employment is achieved in classical model — 2+8
Explain. S :

s R o= I 30 ¢ PRI e o ot s =it =1 o I
AN

X
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2019

ECOACOR04T-EcoNoMICS (CC4)

'STATISTICAL METHODS FOR ECONOMICS-I

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

L. Answer any five questions from the following: 2x5=10 .
fafere -t #ff5f0 evad Ted wies

\/A{ Define continuous variable.
Gf{bes 557 I I0E 9

\\(y/lf z=cx+dy, where ¢ and d are constants. Then show that z =cx+dy
W z=cx+dy @AHe QR J 39, OLA@NE A z=cx+dy

(¢) Explain the measure of relative dispersion.

SRS fRgfon #ffwet e e

\}ﬁ{ Explain ‘leptokurtic’ frequency curve.
‘heptokurtic’ R AT 2 FIE I 2

WY x=12, Y y=4,¥x=162, 3y’ =196, Y xp=5.2, n=10, find ey

= correlation coefficient.

M T x=12, Yy=4, Yx2=162, Y »* =196, Yxy=52, n=10 T A

\a{rxy A F9 9 rxy=51§‘ﬂf%®‘ﬁl
Given r,,=0.6, o, =15, 6, = 2, x=10, y =20, calculate regression equation

ofxony
ReT MCE 1, = 0.6, 6, =1.5, 0,=2, ¥=10, 7 =20, y 43 B x @7 A7 @

IGREEc
(g) What is seasonal fluctuation?

T AR T I 9
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(h) Define crude death rate.
SRS g 2R-97 TR WIS |

2. Answer any four questions from the following: 5x4 =20

FefeRe @-@Rt o1afb ot Teg me:

\/4 Show that ) |x; — 4] is least if 4 = Median.

i=l
e @ Y |x; - A|-92 M FAST W I 4 = T
=l
(b) Show that standard deviation (SD) of first n odd numbers is equal to SD of first n 5

even numbers.

@8 (@ AT p° YT [ET YA 796 RPfe &4w 7 YT @G WY 7S

Rprfea s

(c) For a certain distribution of weekly expenditure of 200 families, the mean, mode 5
and coefficient of variation were found to be Rs. 64, Rs. 60 and 40% respectively.
Find the measure of skewness of the distribution.

200 =T NART @ @ RewEa @i 6, MAISHAF 8 (SHITEL T
TSI 64 DI, 60 B @32 40% | & wataa #famiet fefy s

~ 9/17 ind X, y and r,, from the following regression equation 5
e e R TRl (S &, y 9 1, @99 efr s

y—1.1x=0.7
x—-0.687y=0.25

(e) Discuss the problems in the construction of index numbers. 5
3 Wt ffite oo Rfen stemef Sits s
\(/f/F ind the mean and median from the following data: 5

fAr5a s FRTIw (A0 51T © WYraE S [T et

Class (=) 36-40 | 41-45 | 46-50 | 51-55 | 56-60 | 61-65 | 66-70

Frequency (2Rl | 14 26 | 40 53 50 | 37 25

3. Answer any fwo questions from the following;: 10x2 =20

feafeae -t 4f6 etem Tea we:

(@) &) Explain skewness of a frequency distribution 5

@ 93 AR Rt cvra &fs taarw ga G I

2061 2
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A

i)

i{) In an examination nine students obtained the following marks in Mathematics
and Economics. :

@ G 213 g T Qe-gdie sfte ¢ wdRifsre fAsfetis a9 o

Roll No. | Marks in Economics | Marks in Mathematics
(TFF ) | (TERfeTs g ww) | (olfTe e E)
1 45. 51
2 60 50
3 32 38
4 46 54
5 31 53
6 30 37
7 58 62
8 56 58
9 47 39

Calculate Spearman’s rank correlation co-efficient.
PRI “ARS F2olfS @ e e
«(b) (1) What do you mean by chain-base Index number?

*[81a 55 9670 i AT 2
2015 2017

Commodity (43)) Price Quantity Price Quantity
OB ey | e | (o)

A 6 50 10 56

B 2 100 2 120

C 4 60 6 60

D 10 30 12 24

E 8 40 12 36

Compute Fisher Ideal price index number and verify that it satisfies ‘Time
reversal Test’

Fisher-«@ Si3feate wix 353 WA (T I @k (wte @ @b ‘Time Reversal’
SRV (A BT

4+3=7
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(c) Obtain apprapriate regression equation. Defend your choice. 8+2

oy fosze @t o s Fodivem e gfe ey

Ageinyears T (IRR) | 56 | 42 | 72 | 36 | 63 | 47 | 55 | 40

Blood pressure (F&b19f) | 147 | 125 | 160 | 118 | 149 | 128 | 150 | 145

(d) (i) What do you mean by a time series? 3
FIAA AR 970 B Q@RIT 2

(i) Fit a:second degree polynomialitrend to the following data and calculate trend 5+2
value for 2016.

57+ (e Raege e AR eRest [t @t @k 2016 AER 23St
= T s

Year (I2) 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

Sale (in 1000tons) | 37 | 38 | 37 | 40 | 41 | 45 | 50
Ry (7o )

X,
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